

$$\bar{\lambda}_{k\ell q}^i = \ell \partial_{kq} \bar{\lambda}_i^i - k \partial_{\ell q} \bar{\lambda}_i^i + \bar{\lambda}_{kq}^p \bar{\lambda}_{\ell p}^i - \bar{\lambda}_{\ell q}^p \bar{\lambda}_{kp}^i$$

$$\bar{\lambda}_{k\ell q}^i + \bar{\lambda}_{\ell q k}^i + \bar{\lambda}_{qk\ell}^i = 0$$

$$\bar{\lambda}_{k\ell q}^i = -\bar{\lambda}_{\ell k q}^i$$

$$\bar{\lambda}_{k\ell i q} = \bar{\lambda}_{k\ell q}^p \lambda_{pi}$$

$$\bar{\lambda}_{k\ell i q} = -\bar{\lambda}_{k\ell q i}$$

$$\bar{\lambda}_{k\ell i q} = \bar{\lambda}_{iqk\ell}$$

$$\bar{\lambda}_{q \begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array} \begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array}} = \bar{\lambda}_{i\ell q}^i$$

$$\bar{\lambda}_{\begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array}} = \bar{\lambda}_{\begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array}} = \bar{\lambda}_i^{\ell q} \bar{\lambda}_{q \begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array}} = \bar{\lambda}_i^{\ell q} \bar{\lambda}_{i\ell q}^i$$

$$d=3: \quad \bar{\lambda}_{\gamma\delta\alpha\beta} = \alpha \begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array} \gamma_{\beta\delta} - \alpha \begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array} \delta_{\beta\gamma} + \beta \begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array} \delta_{\alpha\gamma} - \beta \begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array} \gamma_{\alpha\delta} + \frac{1}{2} \bar{\lambda}_{\begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array}} \underbrace{\lambda_{\alpha\delta\beta\gamma} - \lambda_{\alpha\gamma\beta\delta}}$$

$$d=2: \quad 2 \bar{\lambda}_{12_{12}} = \bar{\lambda}_{\begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array}} \underbrace{\lambda_{11\ 22} - \lambda_{12\ 21}} = \bar{\lambda}_{\begin{array}{c} \cdot \\ \cdot \\ \cdot \end{array}}$$

$${}^i \mathcal{L} \mu \mathcal{P} = \mu \mathcal{P}_i^j {}^j \mathcal{L}$$

matrix-valued column $\mathcal{P}_i = \begin{pmatrix} \mu \mathcal{P}_i^j \end{pmatrix} = \begin{matrix} 1 \cdot \mathcal{P}^j \\ \vdots \\ n \cdot \mathcal{P}^j \end{matrix} = \begin{array}{c|c|c} \begin{matrix} 1 \mathcal{P}^1 \\ \vdots \\ 1 \mathcal{P}^1 \end{matrix} & \begin{matrix} \dots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} 1 \mathcal{P}^n \\ \vdots \\ 1 \mathcal{P}^n \end{matrix} \\ \hline \begin{matrix} \vdots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} \ddots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} \vdots \\ \vdots \\ \vdots \end{matrix} \\ \hline \begin{matrix} n \mathcal{P}^1 \\ \vdots \\ n \mathcal{P}^1 \end{matrix} & \begin{matrix} \dots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} n \mathcal{P}^n \\ \vdots \\ n \mathcal{P}^n \end{matrix} \end{array}$

global transpose $\mathcal{P}_i^T = \begin{array}{c|c|c} \begin{matrix} 1 \mathcal{P}^1 \\ \vdots \\ 1 \mathcal{P}^1 \end{matrix} & \begin{matrix} \dots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} n \mathcal{P}^1 \\ \vdots \\ n \mathcal{P}^1 \end{matrix} \\ \hline \begin{matrix} \vdots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} \ddots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} \vdots \\ \vdots \\ \vdots \end{matrix} \\ \hline \begin{matrix} 1 \mathcal{P}^n \\ \vdots \\ 1 \mathcal{P}^n \end{matrix} & \begin{matrix} \dots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} n \mathcal{P}^n \\ \vdots \\ n \mathcal{P}^n \end{matrix} \end{array}$

$$\mu \mathcal{P}_i^T j = {}^j \mathcal{P}_i \mu$$

local transpose $\mathcal{P}_i^t = \begin{matrix} 1 \cdot \mathcal{P}^t \\ \vdots \\ n \cdot \mathcal{P}^t \end{matrix} = \begin{array}{c|c|c} \begin{matrix} 1 \mathcal{P}^1 \\ \vdots \\ 1 \mathcal{P}^1 \end{matrix} & \begin{matrix} \dots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} 1 \mathcal{P}^1 \\ \vdots \\ 1 \mathcal{P}^1 \end{matrix} \\ \hline \begin{matrix} \vdots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} \ddots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} \vdots \\ \vdots \\ \vdots \end{matrix} \\ \hline \begin{matrix} n \mathcal{P}^1 \\ \vdots \\ n \mathcal{P}^1 \end{matrix} & \begin{matrix} \dots \\ \vdots \\ \vdots \end{matrix} & \begin{matrix} n \mathcal{P}^1 \\ \vdots \\ n \mathcal{P}^1 \end{matrix} \end{array}$

$$\mu \mathcal{P}_i^t j = \mu \mathcal{P}_j^i$$

right multiple $\mathcal{P}_i \mathcal{P}_i^{-1} = \begin{matrix} 1 \cdot \mathcal{P}^{-1} \\ \vdots \\ n \cdot \mathcal{P}^{-1} \end{matrix}$

$$\mu_i^{\rho_i^{-1}k} = \mu_i^{\rho_j^{-1}k}$$

$$\text{metric } \mathcal{G} = \mathcal{H} = \begin{array}{c|cc} \mathcal{G}^1 & \dots & \mathcal{G}^n \\ \hline \vdots & \ddots & \vdots \\ \mathcal{G}^1 & \dots & \mathcal{G}^n \end{array} = \begin{array}{c|cc} \mathcal{H} & \dots & \mathcal{H} \\ \hline \vdots & \ddots & \vdots \\ \mathcal{H} & \dots & \mathcal{H} \end{array}$$

$$\mathcal{G}_i^j = \mathcal{H}_{ij}$$

$$\text{inverse metric } \mathcal{G}^{-1} = \mathcal{H}^{-1} = \begin{array}{c|cc} \mathcal{H}^{11} & \dots & \mathcal{H}^{1n} \\ \hline \vdots & \ddots & \vdots \\ \mathcal{H}^{n1} & \dots & \mathcal{H}^{nn} \end{array} = \begin{array}{c|cc} \mathcal{H}^{-11} & \dots & \mathcal{H}^{-1n} \\ \hline \vdots & \ddots & \vdots \\ \mathcal{H}^{-11} & \dots & \mathcal{H}^{-1n} \end{array}$$

$$\mathcal{G}_i^{-1j} = \mathcal{H}^{ij}$$

$$\text{Christoffel } \mathcal{C} = \mathcal{H} = \begin{array}{c|cc} \mathcal{H}^1 & \dots & \mathcal{H}^n \\ \hline \vdots & \ddots & \vdots \\ \mathcal{H}^1 & \dots & \mathcal{H}^n \end{array} = \begin{array}{c|cc} \mathcal{H}^1 & \dots & \mathcal{H}^n \\ \hline \vdots & \ddots & \vdots \\ \mathcal{H}^1 & \dots & \mathcal{H}^n \end{array}$$

$$\mathcal{C}_i = \begin{array}{c} \mathcal{C}_i^1 \\ \vdots \\ \mathcal{C}_i^n \end{array} \text{ column}$$

$$\mathcal{C} = \begin{array}{c|cc} \mathcal{C}_1 & \dots & \mathcal{C}_n \\ \hline \vdots & \ddots & \vdots \\ \mathcal{C}_1 & \dots & \mathcal{C}_n \end{array} \text{ matrix-valued column}$$

$$\mathcal{C}_i^j = \mathcal{C}_i^j = \mathcal{C}_i^j$$

matrix-valued matrix $\mathbf{A} = (\mu\nu \mathbf{A}_i) = (\mu\nu \mathbf{A}_i^j) =$

$11 \mathbf{A}_1$	\cdots	$1n \mathbf{A}_1$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$n1 \mathbf{A}_1$	\cdots	$nn \mathbf{A}_1$	\vdots	\ddots	\vdots

 $=$

$11 \mathbf{A}_1^1$	\cdots	$11 \mathbf{A}_1^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$11 \mathbf{A}_n^1$	\cdots	$11 \mathbf{A}_n^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$n1 \mathbf{A}_1^1$	\cdots	$n1 \mathbf{A}_1^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$n1 \mathbf{A}_n^1$	\cdots	$n1 \mathbf{A}_n^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$nn \mathbf{A}_1^1$	\cdots	$nn \mathbf{A}_1^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$nn \mathbf{A}_n^1$	\cdots	$nn \mathbf{A}_n^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots

global transpose $\mathbf{A}^T =$

$11 \mathbf{A}_1$	\cdots	$n1 \mathbf{A}_1$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$1n \mathbf{A}_1$	\cdots	$nn \mathbf{A}_1$	\vdots	\ddots	\vdots

 $=$

$11 \mathbf{A}_1^1$	\cdots	$11 \mathbf{A}_1^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$11 \mathbf{A}_n^1$	\cdots	$11 \mathbf{A}_n^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$n1 \mathbf{A}_1^1$	\cdots	$n1 \mathbf{A}_1^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$n1 \mathbf{A}_n^1$	\cdots	$n1 \mathbf{A}_n^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$nn \mathbf{A}_1^1$	\cdots	$nn \mathbf{A}_1^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$nn \mathbf{A}_n^1$	\cdots	$nn \mathbf{A}_n^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots

$$\mu\nu \mathbf{A}_i^j = \nu\mu \mathbf{A}_i^j$$

local transpose $\mathbf{A}^t =$

$11 \mathbf{A}_1^t$	\cdots	$1n \mathbf{A}_1^t$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$n1 \mathbf{A}_1^t$	\cdots	$nn \mathbf{A}_1^t$	\vdots	\ddots	\vdots

 $=$

$11 \mathbf{A}_1^1$	\cdots	$11 \mathbf{A}_n^1$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$11 \mathbf{A}_1^n$	\cdots	$11 \mathbf{A}_n^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$n1 \mathbf{A}_1^1$	\cdots	$n1 \mathbf{A}_n^1$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$n1 \mathbf{A}_1^n$	\cdots	$n1 \mathbf{A}_n^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$nn \mathbf{A}_1^1$	\cdots	$nn \mathbf{A}_n^1$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots
$nn \mathbf{A}_1^n$	\cdots	$nn \mathbf{A}_n^n$	\vdots	\ddots	\vdots
\vdots	\ddots	\vdots	\vdots	\ddots	\vdots

$$\mu\nu \mathbf{A}_i^j = \mu\nu \mathbf{A}_j^i$$

$$\text{differential } \mathbf{P}_i = \begin{array}{c|c|c} \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \vdots & \ddots & \vdots \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \end{array} = \begin{array}{c|c|c} \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \end{array} \dots \begin{array}{c|c|c} \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \end{array}$$

$\mathbf{P}_i = \mathbf{P}_i \dots \mathbf{P}_i$ matrix-valued row

$$\mathbf{P}_i = \begin{array}{c} \mathbf{P}_i \\ \vdots \\ \mathbf{P}_i \end{array} \dots \mathbf{P}_i = \begin{array}{c|c|c} \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \vdots & \ddots & \vdots \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \end{array} = \begin{array}{c|c|c} \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \end{array} \dots \begin{array}{c|c|c} \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \end{array} \text{matrix-val}$$

$$\mathbf{P}_i^j = \mathbf{P}_i^j$$

$$\text{global transpose } \mathbf{P}_i^T = \begin{array}{c|c|c} \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \vdots & \ddots & \vdots \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \end{array} \dots \begin{array}{c|c|c} \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \\ \hline \mathbf{P}_i & \dots & \mathbf{P}_i \end{array}$$

$$\mathbf{P}_i^T = \mathbf{P}_i^T = \mathbf{P}_i^j$$

$$\begin{aligned}
\rho_1 \otimes \rho_{\#} &= \begin{matrix} \rho_1 \\ \vdots \\ \rho_n \end{matrix} \otimes \begin{matrix} \rho_{\#} \\ \vdots \\ \rho_{\#} \end{matrix} \dots \rho_n = \begin{matrix} \rho_1 \otimes \rho_{\#} & \cdots & \rho_1 \otimes \rho_{\#} \\ \vdots & \ddots & \vdots \\ \rho_n \otimes \rho_{\#} & \cdots & \rho_n \otimes \rho_{\#} \end{matrix} = \begin{matrix} \rho_1^i \otimes \rho_{\#}^1 & \cdots & \rho_1^i \otimes \rho_{\#}^n \\ \vdots & \ddots & \vdots \\ \rho_n^i \otimes \rho_{\#}^1 & \cdots & \rho_n^i \otimes \rho_{\#}^n \end{matrix} \dots \begin{matrix} \rho_1^i \otimes \rho_{\#}^1 & \cdots & \rho_1^i \otimes \rho_{\#}^n \\ \vdots & \ddots & \vdots \\ \rho_n^i \otimes \rho_{\#}^1 & \cdots & \rho_n^i \otimes \rho_{\#}^n \end{matrix} \text{matrix}
\end{aligned}$$

$${}_{\mu\nu} \rho_i \otimes \rho_{\#}^j = \mu \rho_i^k \nu \rho_k^j$$

global transpose $\rho_1 \otimes^T \rho_{\#}$

$$\begin{matrix} \rho_1^i \otimes \rho_{\#}^1 & \cdots & \rho_1^i \otimes \rho_{\#}^n \\ \vdots & \ddots & \vdots \\ \rho_n^i \otimes \rho_{\#}^1 & \cdots & \rho_n^i \otimes \rho_{\#}^n \\ \vdots & \ddots & \vdots \\ \rho_n^i \otimes \rho_{\#}^1 & \cdots & \rho_n^i \otimes \rho_{\#}^n \end{matrix} \dots \begin{matrix} \rho_1^i \otimes \rho_{\#}^1 & \cdots & \rho_1^i \otimes \rho_{\#}^n \\ \vdots & \ddots & \vdots \\ \rho_n^i \otimes \rho_{\#}^1 & \cdots & \rho_n^i \otimes \rho_{\#}^n \\ \vdots & \ddots & \vdots \\ \rho_n^i \otimes \rho_{\#}^1 & \cdots & \rho_n^i \otimes \rho_{\#}^n \end{matrix}$$

matrix-valued matrix

$${}_{\mu\nu} \rho_i \otimes^T \rho_{\#}^j = {}_{\nu\mu} \rho_i \otimes \rho_{\#}^j = \nu \rho_i^k \mu \rho_k^j$$

$$1/\bar{\rho}_i = \underline{\rho}_i \otimes \rho_{\#}^i - \underline{\rho}_i \otimes^T \rho_{\#}^i + \rho_i \otimes \rho_{\#}^i - \rho_i \otimes^T \rho_{\#}^i$$

$$\begin{aligned}
{}_{\mu\nu} \text{RHS}^j &= {}_{\mu\nu} \underline{\rho}_i \otimes \rho_{\#}^j - {}_{\mu\nu} \underline{\rho}_i \otimes^T \rho_{\#}^j + {}_{\mu\nu} \rho_i \otimes \rho_{\#}^j - {}_{\mu\nu} \rho_i \otimes^T \rho_{\#}^j \\
&= \mu \underline{\rho}_i \nu \rho_i^j - \nu \underline{\rho}_i \mu \rho_i^j + \mu \rho_i^k \nu \rho_k^j - \nu \rho_i^k \mu \rho_k^j = {}_{\mu\nu} \bar{\rho}_i^j
\end{aligned}$$

$$\bar{\bar{A}}_i = \underline{A} \otimes \bar{A}_i \eta - \underline{A} \otimes^T \bar{A}_i \eta + \bar{A}_i \eta \otimes \bar{A}_i^\# \eta - \bar{A}_i \eta \otimes^T \bar{A}_i^\# \eta$$

$${}_\nu \text{Ric} = {}_\nu \bar{\bar{A}}_i = {}_{j\nu} \bar{\bar{A}}_i^j$$

$$R = {}_\nu \text{Ric} \eta^{\nu i} = {}_{j\nu} \bar{\bar{A}}_i^j \eta^{\nu i}$$